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And here the principal is destroyed — RI7p RY9oRT R

OVERVIEW

The X3 stated that were it not for the P10 of "3 237 n%wn, I could have interpreted
the entire P09 of "3 w21 77°¥2 DX 79w, to be referring to 1w only. The word oW
would be referring to Jw when it is not X11p X°22n, and the word w21 would be
referring to a 7w, which is X17p X°%9n (and we would not know that %31 is a p>n).
moon explains the need for the second word (7¥21) to teach us R37p X9,

mooIn asks:
- 1‘1)”:11 "W N9 NHIYWI NINNT 291N 99NN ON)

And if you will say; and let the ‘merciful one’ write only 52 and it will not
be necessary to write I¥a. If we know (from n>w1)* that even X17p X721 K is 277, certainly

X17P ®°90n (which is derived from 2v27) is 2°n1. The 770 should have only written 77°v2 DX 79w
IR 77w2 (omitting the word 2¥2).

N1B0IN answers:
127979 1NV NTIWT NPV RINBN 7INT 9199 U

And one can say; that I would have thought that one is liable for j% only if the

animal was sent (by its owner), as the X723 states later. The word n>w1 indicates that
the animal was sent by its owner. We would have thought that jw is 217 only when the owner
sends it into another’s field. Therefore the 770 writes 7v21 (as well) to indicate that the 2117 of
is even when the animal entered the neighbor’s field by itself (without the owner sending it
there). Both 7w and 223 are necessary for Jw.

SUMMARY

If (there would be no P05 of %37 °n%wn, and) the 70 would only state 9w and not
Tv2) (we would know that W is 217 even if X17p X221 X9, but) we would assume
that it is 211 only if Ym>w now.

THINKING IT OVER
At this point when the XX explains that we need the P05 of 231 “nbwn, for
otherwise, 7¥21 alone would indicate only X179 X221 (as the X3 states) and 17w

! mooIn question is that the 105 of 737 *mown is not needed. We cannot say that the p109 of y21 ' mow is referring
only to 1w; for why would the 7710 write 12w and w21, when now alone is sufficient for .

2 mooin (seemingly) maintains that the word n?w1 cannot be referring to X37p X°221 (only). If the 7710 meant (only) a
case of R17p X*9n, it would have chosen a different word (such as qw23). See *7X 1"7 °"w1 who (seemingly) disagrees
with mpoIN. See "1 0" ,(TIRA) R"wAAn. See “Thinking it over’.
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would indicate only YW 12w (as NdOIN states); how can the X3 ask (shortly)
why it is necessary to have the P05 of 9937 9¥2° qwr5? It is necessary for otherwise
we would need both words for 931 to include X317 X927 X% (which we derive from
nowY) and X7°nn X21R (which is derived from 2y21)!
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